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- GEOGR.APHY
- (Honours Generic/Regular)
: For Honours Generic
Answer the Questxons from any one Option.’
OPTION - A o
{ Geography of India with reference to
o ALE India)
Paper GGY HG-4016
: . OPTION-B
( Populatton and Settlement Geography).
Paper : GGY-HG- 4026
. For Regular

( Geography of India with reference to
N-E India)

Paper : GGY-RC=4016
Full Marks : 60
Time : Three hours :
The figures in the margin indicate
Jull marks for the questions.
Answer either in English or in Assamese.
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OPTION -A

( Geography of India with reference to
N-E India /I8

Paper : GGY—HG—4016/GGY—RC—4016
1. Answer the following ciuestions : 1x7=7
O ePTRd Bl a8

(a) Give the locétional extent of India.

oRed (STl [gfs fal (e o
TIEAE SIT9) |

(b) Name the two union territories which
were declared in India recently.

Siges WHReE CROAE @l T
@@mﬁ,@mwwﬁm

(c) In which season India gets maximum
amount of rainfall ?

(I AT SIROO HBIRSCH @fﬁq@m@@?

(d) Name the state of India having the -
. largest population as per 2011 Census.

0% 599 (AT WS OiFed SibiRelE @b
TR 2 AR AN R
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(e)

(9)

~ Write the following questions in brief :

What is the sex ratio of India as per

‘2011 Census?

2055 5 @ﬁmwﬁmwﬂﬁ@ﬁ
wqon— © e

Narne two east flowing rivers of
Peninsular India. ‘

wiEF olwed 73 SRR S A B
Name a wheat producing state of India.
R G2 (T2 SLAMAPIS! A& A {2 |

- 2x4=8

@%W@@ﬁms

(a)

As per 2011 Census, name the two
districts of Assam having highest and
lowest population density.

305 B Tl SRR SIS SBIRE F
o @b TEeRY! TNy 45 e aw

(b) What are the area coverages of India
and Assam ?
SRS % ST I e 2
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() Name two trans-Himalayan tributaries
of the river Brahmaputra. -

ﬁwﬂwﬁwaﬁ@ﬂﬁﬁw@m
i Tt |

' (d) Mention two main characters of

monsoon.

TR AR 7 R S )

Write short notes on : (any three)
5x3=15

B3 (Biet 74t ¢ (Ficeteant fofsy)

(a) Major physiographic region of India
OlRed YU GOFOT LR

(b) Weather characteristics of India

| oiFe’ SRR @EY

(c) - Literacy pattern of India

' (d) Forest cover of North-East India

Beq A% e A= 5o
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fe) Iron and Steel industrics of India

CROS (@Rl S fod Soial

Answer any three questions from the
10x3=30

" o

following :

o RS Oes frdl 8

(@) Discuss about the major

physiographic systems of India and
their characteristics 2+8=10

W‘ﬂﬁgﬁ@%@ﬁﬁwwm
TR RE s 54|

. (b) Discuss the mechanism of Indian

monsoorn.

|

(c) Discuss the locational signification of
N-E India and its influence on its

growth and development. " 4+6=10

Tea-oieeeid SRET WG OE TRDN
Rop s 2 AOR TR S 54 |
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(d) Give an outline of industrial systems b OPTION -B

of India and discuss the factors | :
influencing industrial development of (POP ulationfiang Settlement Geography)
the country. _ 6+4=10" ' : Paper : GGY-HG- 4026
P ) SRRSO Tl o 1. Answer the following questions by choosing
(PR ST R ﬁwiij\"wm : ‘ the ‘most appropriate option g1ven against
SO 1 | ‘each question : 1x7=T
(e) ‘Discuss the distribution and potential - OO 2PAICEIRE AT TSI ?ﬂﬁ@%{@ﬁ s |
of petroleum resources of India. ‘ (@) ‘Sex ratio’ is defined as :
RS (PG s REfs oI ToRmE Bl A TR
e il 9| . . |
‘ g Shie . (A) the number of females per 1000
() Discuss the téchnological and f ? males in the population ‘
institutional factors affectmg Indian - ‘
agriculture. ' } : 2% So0o T 7[5 KRS FiRe A
TReq RS g@;ﬁ@ eS| rjﬁas w2l AP (B) the number of females per 10000
PR PRI SIS SASRTBHR | | males in the population
i . 34fs Y0000 T TR TR Si2eTs A

(C) the number of females per 100
males in the population

&if$ soo T o [Afire TfRER e

(D) the number of females per 10
males in the population

A4S So T 7 Reldive FfRam A
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(b) When'did‘the ‘National population

(e

policy’ come into effect ?

ST (IR TS 2T G SR SIS Ay

. FE E?

(A) 1994 = (5558)
(B) 1986 (Sazre)'
(C) 2000  (X000)
(D) 2001  (R00%)

Which of the following is not a ‘push

factor’ of migration ? e
(A) Water shortage '
A A
(B) Unemployment
et
(C) Mediéal/educational facilities
KicifasRacRnisEl
(D) Epidemic -

T
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(d) During which decade did the population

(e)

-of India record negative growth rate ?

TEE (PG TS SIReTHe AN S

g ol ol o

(A) 1901-11 = (5505-5%)
(B) 1911-21  (3533-3%)
(C) 1921-31 (5935-93)
(D) 1931-41  (>595-8)
Which of the following pairs is not ‘twin-
cities’ ?
O (O A TR T SRR R ?
(A) Delhi-Ghaziabad i
e -sifermam
(B) Hyderabad-Secunderabad
AR (RPHIRM
(C) Kolkata-Howrah
W@—QW
(D) Bengaluru-Mangaluru
| QRANETH-RANETE
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() Which one of the following patterns of

- settlement is developed aloeng either side '

of roads, rivers or canals ?

O (FHRY SR 2R GG S{2, w6 Al
N LA e =2

(4) Square  (wfEfe)
(B) Linear (Zaj%)
(C) Starlike (SRRN)
" (D) Circularr ((M=ighe) - -

(g) Which of the following states of India
has the least percentage of urban

- population ?
e (P4 OISl JTTS Fm%w SEHRI
AT SIBIRO(T P 2 :

(A) Sikkim  (BRW)

| (B) Tripura = (f@@n)

'(C) Himachal Pradesh (e o)
(D) Nagaland  (liCste)
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Answer the followmg questions in very short :
2x4=8

[a} What is populatlon pyramld &

e PRI B e

() What is meant by growth rate of
' populat1on ?

PR 3, 2 I e

(c) Mention any two characteristics of rural
settlement.

oy IR RiceIe! 7o R i

(d) What do you mean by ‘density of
population’?

G Te el [ gEe

3. Write short answers of any three of the
following questions : S%x3=15

oo ePTER fRrel fofbre 5 Te fodl ¢

(@) Define population geography. D1scuss

its 1nter—relat10nsh1p with demography.
{2485
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R PeANETs KR! W“HCGFH I mam ] ; ‘ .4. Answer the following questions : 10x3=30
%,m S TR Ted forei ¢

; 4 ' i : : Discuss the factors influencing the
(b) Brle-ﬂy discuss .the basic differences ' : : % BRI : i -
' : Ko " distribution’ and density of population

between rural and urban settle
ments. with special reference to the population

2 I T AR e AL 5 | 20 | density zones of India.

Sl KT _
, - ' e B SRS TR TS SRS ROl
(c) Hierarchically arrange the urban ﬁf%ﬁ%ﬂﬁ(ﬂ]ﬁﬁ'\ﬁquemmr
settlements in terms of their population. (OTETIR. FIRFAZ, IZE02, SNCAD F4 1.
G SIS ISR TR WTE{_‘CSI M ;
i : ' ' _ Or [ 59« .
(b) What are the major components of -

(d) Distingﬁish between push factors and

pull factors of migration, ‘population change’ and growth in a

region ? Discuss in detail the factors.

O S S R W Rl | e o .
"HW @@VJ - | responsible for steep rise in population
, ' , ; of India since 1921. 3+7=10
fe) Briefly elaborate the stages as 4D} ST TR AR S IR
* s i b ' Cﬂslc;" \
highlighted in the demOgraphiC , - 5 e AR
transition - theory. ' ' _
| ‘ | AfREre @[l @&ﬁﬁ SR s TR
G R wea fifen wong sare fre  SicE
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(c)

(d)

(e)

Elaborate the meamng scope and
significance of settlement geography.
- 3+4+3=10

TS QU W, AR W wwy Tz

SCEAG 41 |
Or /[ 925

What do. you mean by ‘rural
settlement’ ? Discuss different types of
rural settlement with suitable diagrams.

2+8=10

PSR HEPTEE =Dl 541 |

Interpret the Malthusian theory of

» populatlon growth in detail and

examine its applicability in present- -day
context. 7+3=10

mww\waﬁwwwww'

mmwﬁ%w@a@w%
I |

-

Or [ %5

Write a. brief note on rural to urban

‘migration. Discuss different demographic

and socio-economic impacts of migration
in a country. 3+7=10
IS AqN GRS TN o
ARG I S9N TEE AR

FIACH S B9 |
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